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3) 74x-1+5=19

5) \/V—y:—Z

7) Ix-1+Vx-2=1

9) Vx—1=—12

Xx—1

11) x+/3 -/12 =75 — /27 X*

13) J2x+7,6x-2 =6/3x-2x

15) ¥x+2=/2x+3

17) \J22x+3 +2x-2 - [18 x+7 = /2 - 2x

19) 3/x3/x64x =2
21) Vx-1++2-x=x-4

23) \/ﬁ+\&:i4

X

25) Vx—1++2-x=x-4

27) Ix—L+x-2Jx-1=1
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2) 7T++/x =9

2
4) 4+3a? +3[8a? =8£1+?/:—4]

6) Vx*-16 =3

12) 3f4x-3+32x-1=2

14) GX—_23=:‘/4X—1

V(4x-1)

16) V2+/x" +2 =x

18) \[2X+22x—1+/2x-2,/2x~1 =2
20) |x|+\/x2—1=i2

X

22) x+2X—1 +/x=24/x-1 =2

24) \Bx-1++/x-1=2

26) I +1+0x¢+1=2

28) x*+Vx-2=6-x




® www.nenomatica.com neno matica Jp(x) ))

29) VX2 -1+x=4+¥x=3=0 30) x++/x-2=1

31) x*=1+1-x 32) x* +x2 ¢ -1=1

33) Vx+1-x+3=1 34) X+’ —2x =+/x

35) V4—x* =500(3x-9) 36) 2x—5=100,/9 -4

37) J5x+2-5x+3=1 38) Vx* +1+x=-1

39) X' +x2 X2 —1=2 40) Ix—-1+x=2+/x=3=0

41) xJ4-x* +3J4-x* =0



